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PAPER CODE - 8196

MATHEMATICS 12" CLASS - 12021 TIME: 30 MINUTES
GROUP : SECOND OBJECTIVE MARKS: 20

NOTE: You have four choices for each objective type question as A , B, C and D . The choice which

you think is correct , fill that circle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.

QUESTION NO. 1
1 |Jemde=.......coeee e
(A)In|secx] +¢  (B)Injcosecx|+c¢  (C) Injcosx|+c (D) In |sinx| +c
2 [ [Inx7ldx = ..o
(A)xInx +x+c B) -xInx+x+c (C) -x-xlnx+c¢ (D)x+Inx+c
3 fﬂﬁ/z DL o —
@1 B2 ©4 OF
4 |f (§+ ]nx) i b A S
(A) i e+ B) lnx+c (C)¢€" me +o D) me +c
5 | If m; and m, are slopes of two lines , then lines are perpendicular if
A mme=1 B)m=mp () mmy=-1 D) m=-my
6 | Anequation of horizontal line through point P(7, -9) is
A y=-9 @B y=9 (C) x=7 D) x=-7
7 | The perpendicular distance of the line 3x + 4y + 10 =0 from (0 ,0) is
@ao @1 (C) 2 (D) 10
8 x =5 is the solution of inequality
(A)2x-3>0 B)2x+3<0 (C) x+4<0 4 0
9 | The radius of circle (x — 5)* + (y — 3)* = 8 is
A2 B)2vV2 (C)4 (D) 64
10 | The vertex of parabola (x -1)* = 8(y+2) is
@a,2 @@l (C) (- L ¥ (D) (1,-2)
11 2—2 - % =1 is the standard equatief of
(A) Circle (B) Parabola  (C)Ellipse (D) Hyperbola
12 1 1f u=2i+4j+7k and g =2I K6/ * < k are perpendicular , then oc=?
(A) -4 (B) 4 (C)28 D) 0
13 |2k . jxi isequalte
A1 B -1¢€C»-2 O 2
14 | If u=2£-i-2& ,then Ju|="7?
| A2 € (B)3 ©) 4 D) 5
15 | f{x) = O RIUAK I8 ..ovcnvesessnnes function
(A)Even " (B)Odd (C)Bothevenandodd (D) Neither even nor odd
i 2
16 | Mm (343 e
X— 0 n
A e ®e ©e D
7 12 i
17 |4 (L)m o
1 1 X b ¢
Bgr Bz OF O-7
18 % (COSXD) = oeveieeirn
(A)-sinx®  (B)2xsinx* (C) -2xsinx® (D) sinx. 2x
19 |If y=5€™* then L = ...
A) 15¢** @) -15¢™*  (©20e* )20
20 | If y=sin 3% , hel Y5 cconcssosssesan
| (A) 3cos 3x B)%in3x  (C)9cos 3x (D) — 9sin 3x
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ATHEMATICS 12" CLASS - 12021 TIME : 2.30 HOURS
ROUP : SECOND . SUBJECTIVE MARKS : 80
SECTION-I
QUESTION NO. 2 Write short answers any Eight (8) of the following 16
: 1
I Find fof(x) for fix) =vx+1 , g(x)= = X¥0
2 |Find f (x) if fx)=(x+9)°
3 | Find f(x-1) if f{x)=vVx + 4
4 Find T for g1y = sing
S lIfy= \/_—--— showthatzay+y=2&
6 == 2x—-1
Differentiate w.r.tx If y =
2,
7| Differentiate XZH wrt, x>
X“—1
8 Find%ify=xcosy
9 | Find j—;’ if y=e™ (C+2:%+1)
10| Fing % if y=In (tan h x)
11} pind g if y=sinh'(x%
12| Find y; if y=x’¢*

QUESTION NO. 3 Wr:te short answers any Eight (8) of the following 16
1 |Finddyify=x”and x changes from 2 to 2.01 '
2 Evaluate f sinx+cos3x

cos2x sinx
3 | Evaluate the given integral [ sin’x dx
4 In sinx
Evaluate [ cosx ( — ) dx
| 5 | Find the antiderivative of sin™'x
6 | Evaluate the definite integral | On/ * cos?0'sind do
7| Solve the differential equation % =y /e ™
8 | The length of perpendicular from the origin to a line is 5 units and the inclination of this
perpendicular is 120°. Find the slope of the line
9 | Find an equation of thedlinethrough (-5 , -3)and (9, -1)
10 | Convert the givengequationi into normal form : 4x + 7y —2 = 0
11 | Find an equation of each of the lines represented by : 20x> + 17xy — 24y” = 0
12 | Find thefinterior angles (any two) of the triangle whose vertices are
A6, d(2,7),C(-6,-7)

QUESTION NO. 4 Write short answers any Nine (9) of the following 18
1 | Graph the solution set of 5x - 4y < 20
2 | Find the sum of AB and CD given the four points A(1, -1) , B(2,0) , C(-1,3) and D(-2 2)
3 |Find2CB -2CA if A=(2,5),B=(1, )andC=(2, - 6)

4 | Find a vector whose magnitude is 2 and is parallel to - { + g+ _fg
5 | If vis a vector for which v.i=0,v.j=0, v.k=0 thenfindy
6 | A force F=7i +4;j - 3k is applied at P(1,-2,3). Find its moment about the point Q(2,1,1)
¢ | I a=2i+j-k , b=i-j+k find bxa and show b x a is perpendicular to a
8 | Find centre and radius of circle 4x” + 4y” — 8x + 12y — 25 = 0
9 | Find the length of the tangent from the point P(-5 , 10) to the
circle 5x* + 5% + 14x +12y — 10 =0
10 | Find focus and vertex of the parabola x*=- 16y
11 | Find eccentricity and vertices of 9x* — 12x —y* — 2y +2=0
12 | Find an equation of the tangent to the conic x> —xy +y*—~2 =0 at the point whose

ordinate is V2

2

13

Find the valnimea af tatrahadean varnth +ha cvartioae A7 1 OF D2 A O irm 14 g 5 o
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Note: Attempt any Three questions from this section

D 4r-1-2|
SECTION-IT

Q.5-(A)

(B)

lim 1—cos pé
-0 1-cosqf

Evaluate.

Find % if x= a(cost+sint) , y= a(sint—tcost)

Q.6- (A)

(B)

Evaluate [+Vx2+4 dx

One vertex of a parallelogram is (1 , 4) , the diagonals intersect at (2, 1) and the sides have
slope 1 and -% . Find the other three vertices

Q.7-(A)

)

n/4 cosf +sinf
Evaluate fﬂ cos26+1 o

Graph the feasible region of the following system of linedr inequalities and find the corner
points 3x+7y <21 , x-y<3, x20,y>0 '

Q.8-(A)

(B)

Find the coordinates of the points of intersection”of the line x + 2y = 6 with
the circle x> +y* —2x -2y ~39=0

Use vectors prove that  cos(e+ )= cos o cos B - sinx sin 8

Q.9-(A)
(B)

Ify= (cos 'x)%ythemprove that (1 - X2 y2~xy1 —-2=0

Find an eqiation of the parabola whose focus is (- 3 , 4) and directrix is 3x ~4y +5=0
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